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100 UPJN_Dec2016_JE_CIVIL_GA_2
General Awareness \ THT ATl

Who won Novel Prize 2016 for Chemistry?

2016 1 THTF o TN aftelel QrEehry foprel Sfier?
3 Juan Manuel Santos \ SiieT #eJuel Hererer

C Jean-Pierre Sauvage, Sir J. Fraser Stoddart and Bernard L. Feringa \ SfieT f3R @tamet, @@ & e
FCIBTC AT FATS T R

e Yoshinori Ohsumi \ ATRIART 3EgeT

T Bob Dylan \ & S/IolT

The correct option is "Jean-Pierre Sauvage, Sir J. Fraser Stoddart and Bernard L. Feringa \ SiieT 3R
Flam, @ S R TEISTE AT §18 Tel SR 'Score:- 1

Candidate Response .2
2 of 80
101 UPJN_Dec2016_JE_CIVIL_GA 2

General Awareness \ 9HTI AT

Which state has proposed several amendment to tighten the: liquor law?

7T T o I & [FIH s G&d 90T o TolT 2T sl Teaid TE@T?

Bihar \ fSgR

Gujarat \ I[N T
C Haryana \ gR=mom
 Karnataka \ i

The correct option is "Bihar \ lMgR"Score:- 1
Candidate Response :1

http://upjn.org/JECIVIL/C andidate.aspx
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102 UPJN_Dec2016_JE_CIVIL GA_2

General Awareness \ HHH AT
Who is the Chief Minister of Gujarat?
TG o H{EA AT Hlel g7

Nitin Patel \ fafdet geer

Anandiben Patel \ TedIseT 9¢eT
Vijay Rupani \ T&sra sqraT

Saurabh Patel \ Tisr g

YTy

The correct option is "Vijay Rupani \ {d= $91AT"Score:- 1

Candidate Response :3
4 of 80
103 UPJN_Dec2016_JE_CIVIL_GA 2

General Awareness \ HTHTT AT

Where is the Asian Development Bank Headquarters?

C Philippines \ firferdier
C Malaysia \ Feifr=r
« Singapore \ FHaTqT
' paris \ 9w

The correct option is "Philippines \ fsfardig" Score:- 1
Candidate Response :1

http://upjn.org/JECIVIL/C andidate.aspx 2/37
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104 UPJN_Dec2016_JE_CIVIL_GA 2

General Awareness \ T AT

Who took the top spot in Forbes’ 100 richest in the List in the year 20167
2016 =T WIH Hr 100 3R el 1 Aol 7 Fa8 FIR Fraer a5 872

© Jeff Bezos \ 3w e

Mark Zuckerberg \ #Th W‘r

Bill Gates \ foeT 9cg

Mukesh Ambani \ eI 3ieTeir

7

T

The correct option is "Bill Gates \ f&eT FIeg"Score - 1

Candidate Response :2
6 of 80

105 UPJN_Dec2016_JE_CIVIL_GA 2
General Awareness \ §HH AT

Which country will host ICC Cricket world cup in 20237

2023 =T hehe GE T ahieT T 327 AT HLIM?

England\ $3ai3
Pakistan \ arferedrsT
India \ 9T

South Africa \ gf&ToT 315hTRT

2

The correct option is "India \ 9T "Scorg:- 1
Candidate Response :1

http://upjn.org/JECIVIL/C andidate.aspx 3/37
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106 UPJN_Dec2016_JE_CIVIL_GA 2
General Awareness \ HTHT 7T
Boasted finish of dressing stone is:-
ST gear T Aes aRESAT 8 -
Making non-continuous parallel marks \ 3/ FHATACR IR ST

3 Giving finish to a 20 mm margin only at edges \ el fehaRt TR wek 20 AT AT o aRGwaT 3T

o it 1 " .
Providing continuous lines on the face \ g 9 Tdd I@IT ST

c Working out 30- 50 mm wide margin around the face with chisel \ &= & |12 Hclg & gl 31X 30- 50
T 2T ST WA T B BT

The correct option is "Making non-continuous parallel marks \ 3/Hc FHTITY oI Saltar'Score:- 1

Candidate Response :4
8 of 80
107 UPJN_Dec2016_JE_CIVIL_GA 2

General Awareness \ HTHTT ATl

Goitre is caused by the deficiency of:-

SIS e ferfaet &1 el & e &7
Vitamin A\ faerff= A

Vitamin C\ fdeifd=r C

Vitamin D\ faeifa=r D
lodine \ 3TAE=

LB I B

The correct option is "lodine \ 3T=—TET 'Score:- 1
Candidate Response :4

9 of 80
108 UPJN_Dec2016_JE_CIVIL_GA_2

General Awareness \ §THT Tl
Which one amongst the following is not a greenhouse gas?

et 7 & Pl AeAer38 0 A6 57

Nitrogen \ aTggIaTal

¢ CFCACFC

http://upjn.org/JECIVIL/C andidate.aspx 4/37
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Methane \ {2
Carbon dioxide \ e SE3HTRSS

The correct option is "Nitrogen \ @Tggieia"'Score:- 1

Candidate Response :3
10 of 80

109 UPJN_Dec2016_JE_CIVIL_GA 2
General Awareness \ HTHT AT

Pencil 'lead' is made up of:-

Sf@eT ohT TRerhT fShdent a1 21T 87
Graphite \ @rar

Lead oxide \ I 3{TeFETSS
Charcoal \ #1ehsT &l hIrell

YTy

Lamp black \ §rqes & &refe

The correct option is "Graphite \ @raT'Score - 1

Candidate Response :1
11 of 80

110 UPJN_Dec2016_JE_CIVIL_GA 2
General Awareness \ §HH ATl

Normal temperature of human body is:-

The correct option is "98.6°F"Score:- 1
Candidate Response :4

http://upjn.org/JECIVIL/C andidate.aspx 5/37
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111 UPJN_Dec2016 JE CIVIL_GA 2
General Awareness \ HTHHT ATl

Dialysis is used for the treatment of -

sIfafaw fora S &t 8 vt & e fohar Jrar 87
Heart \ f&er

Kidneys\a;a‘r

Lungs \ st

~
{"’H
i
e Liver\?:l;ﬁ

The correct option is "Kidneys \{Iaﬁ"_Soore:- 1
Candidate Response :2

13 of 80 ’
112 UPJN_Dec2016_JE _CIVIL GA 2

General Awareness \ §THY T

Which of the following stone has the highest resistance to fire?
AR gcer # forwerr 317 ufaty 3Taaa 72

Granite \ 5T

Limestone \ AT 9c2iX

Sand stone \ E!T;E’:ﬂ T2l

o B B B

Argillaceous material \ ﬂ?ﬂ?irtlair

The correct option is "Sand stone \ SI31T T2 'Score:- 1
Candidate Response :1

http://upjn.org/JECIVIL/C andidate.aspx 6/37
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113 UPJN_Dec2016_JE_CIVIL_GA_2

General Awareness \ THTT AT

Smith's test on stone is to check

TeeR W TEAeT udretor & T A B AT R
e Toughness \ €T

e Hardness \ saRar

3 Compressive strength \ §sT AT

~

Presence of muddy substance \ s&HFT Gerey (Prrs) hr sufeufa

The correct option is "Presence of muddy substance \ s&sar gars (Hres) Hr 3uffufaScore - 1
Candidate Response :3

15 of 80
114 UPJN_Dec2016_JE_CIVIL_GA_2

General Awareness \ HHH ATl

Light year is a unit of -

UehTel @Y fohHehT SIS 87
C Intensity of light \ eTs< T Jrgar
C Distance \ g
T o
Time \ T# AT
8 Planetary motion \ IIgT &7 a1

The correct option is "Distance \ g3"Score:- 1

Candidate Response :2

16 of 80
115 UPJN_Dec2016_JE_CIVIL_GIR 2

General Intelligence & Reasoning \ §HT Fafer T A=

A watch reads 7:30. If the minute hand points to west, then.in which direction will the hour hand point?

Uk bl & 7:30 991 8, A TAete 1 g$ ufdes fare g ot e & gs i e = grair?

C North \ 3a¥
T North-East \ g
' North-west \ F-afEad
(e
South-East \ ZT&I0T-q@
The correct option is "North-West \ 3TR-af¥a#"Score:- 1

http://upjn.org/JECIVIL/C andidate.aspx 7/37



3712017
Candidate Response :3 Page 8

17 of 80
116 UPJN_Dec2016_JE_CIVIL_GIR_2

General Intelligence & Reasoning \ WA= T5[& a1 fa=R
If 18" Jan. 1987 falls on Tuesday, what day will 18" Feb. 1987 fall on?

qTe 18 SIeTall 1987 ! HaTedX & o 18 BLaT 1987 ol FT aIT gaT?

Monday \ EHaR
Tuesday \ #ITAR

Thursday \ T[&dT

s B B

Friday \ [shdl¥

The correct option is "Friday \ shHaN'Score:- 1
Candidate Response ‘4

18 of 80
117 UPJN_Dec2016_JE_CIVIL_GIR_2

General Intelligence & Reasoning \ €A I T fae
If MONKEY = 83, MAN = 28, then DONKEY = ?

Ife MONKEY = 83, MAN = 28, a DONKEY = ?

C a7
24
7
C

The correct option is "74"Score:- 1
Candidate Response :2

http://upjn.org/JECIVIL/C andidate.aspx 8/37
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118 UPJN_Dec2016_JE_CIVIL_GIR_2

General Intelligence & Reasoning \ #HTT & auT fawR
What will come at the place of' '?'
Manipuri . Manipur ; : Kathakali : ?

7?2 & FATT GT AT 3T

ﬂﬁgﬁ:ﬂﬁﬂ::mﬁﬁ:?

D

Karnataka \ shelTee
Andhra pradesh \ 37e1 w21
Kerala \ seT

Tamilnadu \ Af&e=Tg

The correct option is "Kerala \ s¥e"Score:- 1
CandidatesResponse :1

http://upjn.org/JECIVIL/C andidate.aspx 9/37
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119 UPJN_Dec2016_JE_CIVIL_GIR_2

General Intelligence & Reasoning \ @TAT-Y F&fr T AR

What will come at the place of ?

Book : Read : : Picture : ?

7 & TATT YT AT 3T

frdle : 9T ey ?

Library \ Sgs:r
Busy \ e&d
See \ =TT

Listen \ FeTell
The correct option is "See \ 2&=1T"Score:- 1

-
{”
"
.

Candidate Response :3

http://upjn.org/JECIVIL/C andidate.aspx 10/37
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120 UPJN_Dec2016_JE_CIVIL GIR_2
General Intelligence & Reasoning \ 1A F&ftr o faaR

What will come at the place of ?
24:60::210:7
? & TATT YT AT H=E

602 210 P
425
420
525
505

% 3 T T

The correct option is "525"Score:- 1
Candidate Response ;3

22 of 80
121 UPJN_Dec2016_JE_CIVIL_GIR_2

General Intelligence & Reasoning \ FTAY & T famm®

Choose odd word / letters / number pair from the given alternatives.

f&u a1v ¢reg / 3T / e arer A § Bewt w0 YAy

1000
625
640
912

Ty Y Y

The correct option is "625"Score:- 1
Candidate Response :2

http://upjn.org/JECIVIL/C andidate.aspx 11/37
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122 UPJN_Dec2016_JE_CIVIL_GIR_2

General Intelligence & Reasoning \ =T T&ftr 7T farmR

Choose odd word / letters / number pair from the given alternatives.

few a1w ereg / 38R / e Jarel | et B Gy

10
24
64
120

s 3he Bt e

The. correct option is "64'Score:- 1

Candidate Response ;3
24 of 80
123 UPJN_Dec2016_JE_CIVIL_GIR 2

General Intelligence & Reasoning \ W@ auT R
Which one of the following does not belong to exogenous tree?
et & & Fie-ar v ST 95 & wefaa 8T 87

Deodar \ gaer

Pine \ aig«

Mahogany \ #&RTAT

Bamboo \ aT&

T YD

The correct option is "Bamboo.\ S\ Score:- 1
Candidate Response :4

http://upjn.org/JECIVIL/C andidate.aspx 12/37
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124 UPJN_Dec2016_JE_CIVIL_GIR_2

General Intelligence & Reasoning \ ¥ &f& auT =R

Arrange the following words according to the english dictionary.

1. Beet
2. Beer
3. Being
4. Been

U 717 2Tee] ol STFeRT Fr BRI & e & oo

1. Beet
2. Beer
3. Being
4. Been

4.2 9.3
4. 2,81
15 2 804

YYD

4,3 21

The correct option is "4, 2, 1, 3"Score:- 1

Candidate Response :1
26 of 80
125 URPJN_Dec2016_JE_CIVIL_GIR_2

General Intelligence & Reasoning \ FTAFY 5 T fawR
If Ais father of B, B and C are brother, D is C's grandmother, E is D's husband, how E is related to B?

I A B ATE, B a2 C il $TS §, D, C T &1ér & T E, D &1 Ufd & oY E &1 B & 1 Toaetl §72

e Father \ Rdr
e Uncle \ 3iset
r
Grandfather \ grer
r

None of the above \ FTRIFd 7 ¥ S 8T

The correct option is "Grandfather \ gTeT"Score - 1
Candidate Response :3

http://upjn.org/JECIVIL/C andidate.aspx 13/37
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126 UPJN_Dec2016_JE_CIVIL_GIR 2

General Intelligence & Reasoning \ Wgﬁﬁ' T faaR

An assembled product made up of veneers and adhesives is called:-
Tt 3T ST & TAHUT & Sl 341G ol &gl AT 87

Batten\ d&dr

Plank \ 9ge

Board \ Weleh

Plywood \ Teli$ds

YT Y

The correct option is "Plywood \ lﬂ'l‘{'ﬁ_i;-“;"Soore:— i
Candidate Response :4

28 of 80
127 UPJN_Dec2016_JE CIVIL_GIR 2

General Intelligence & Reasoning \ IH=T J&f8 9T fAaR
Complete the series with appropriate option 7, 12, 22, 7, 82, 162

& TS H@el B qU A 7, 12,22, 7, 82, 162
C n

o
C 5
-

The correct option is "42"Score:- 1

Candidate Response :1
29 of 80
128 UPJN_Dec2016_JE_CIVIL.GIR 2
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General Intelligence & Reasoning \ T gefer auT fdar Page 15

The constituent which imparts strength to cement is:-

S Teeh e Y 1feRd vaTe e §, 96 € -
3 Calcium Sulphate \ SRR Tethe
Silica \ fafere

Alumina \ Teg AT

™
T
i .

Magnesia \ #F=Nf2rar

The correct option is "Silica \ fF&TeT"'Score:- 1

Candidate Response :2

30 of 80
129 UPJN_Dec2016_JE_CIVIL_GIR_2

General Intelligence & Reasoning \ e gafer ot e

In a class, Sohan's rank is 17" from the top and 28" from the bottom. How many students are there in the
class?

Ve SRR 3 Tl T TT T W 173 e oA § 283 & o Fore # Tt Rl e §7

45
4
44
4

o R B

The correct option is "44'Score:- 1

Candidate Response :3

http://upjn.org/JECIVIL/C andidate.aspx 15/37
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130 UPJN_Dec2016_JE_CIVIL_TECH_2
Technical \ d&sidr

Which of the following is used to measure the discharge?

TEFarat T AT & ToIv feeehT 9=ieT fohar ST 872
Current meter \ e #Het

Venturimeter \ dewgiaeT

Pitot tube \ feie o3&

Hotwire anemometer \ AR 3AHTET

g B B

The correct option is "Venturimeter \ ér_u-lgﬁvﬂa“Score:- 1
Candidate Response :2
32 of 80

131 UPJN_Dec2016_JE_CIVIL_ TECH 2
Technical \ T

The ingredient of paint which gives it, the binding property and form opaque coating is:#
Y 21 T8 IEAS SN, Seied IOT FaTel LT § 3TN SrareERi e AT e 8, agerer g
Base \ 39X

Vehicle \ aga

Solvent \ ¥
Filler \ forere

I B

The correct option is "Vehicle \ arg=1"Score:- 1

http://upjn.org/JECIVIL/C andidate.aspx 16/37



3/7/2017

33 of 80 Page 17
132 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ @&=thr

Which scientist is associated with theory in Soil Mechanics?
e i & foawiar 3 ey #ia & dafes o2 #2

Marcel Dekker \ AT 3T

Karl Terzaghi \ srel &=Tel

Finnemore \ IS
OQosthuizen \ FFeggateT

TN

The correct option is "Karl Terzaghi \ &Tet 2STe"Score:- 1

Candidate Response :2

34 of 80
133 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ d&=iihT

The surface of which paint can be cleaned by washing with water?

ToRE TITT T g T U T elieh |1 Tohar ST Fehell §7
QOil paint \ I TTT

Enamel paint \ arE==AT TTerg

Emulsion paint \ SHRT 0T

Bituminous paint \ fegf#ee Tty

i

I

The correct option is "Emulsion paint \ He21T TTeig 'Score:- 1

Candidate Response :2
35 of 80
134 UPJN_Dec2016_JE_CIVIL_TECH_2

http://upjn.org/JECIVIL/C andidate.aspx 17/37
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Technical \ aeeitdhr Page 18

In the fractional distillation of crude oil, the components of crude which do not evaporate is:-
TR O 3 HMTRIE 3THaT 3 a7 T ot aTfsue w1gT iaT &, geaT 8-

Kerosene \ fle<T &7 der

Spirit \ FEaRe

Bitumen \ AR

Fuel oil\ §er A<

7T D

The correct option is "Bitumen \ et 'Score:- 1
Candidate Response :3

36 of 80
135 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ gF=fr

A goad building stone is one which does not absorb more than of its weight of water after
one day's immersicn

TF ST SAN Uei JF ¥ 3 va R ¥ Rwei & arg, ame (T % ¥ 3 Ul R
et B

3 5%

e 10 %

e 15 %

e 25%

The correct option is "5 %"Score:- 1

Candidate Response :1

37 of 80
136 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ a&=T$r
The siliceous sandstone which has been subjected to metamorphic action, is called:-

TR ae3im Tear fwaY srriawoT 1 s 1 el 8-
Moorum \:ﬂm

Laterite \ dleige

Quartzite \ FaTEsEE

Dolomite \ ST&HATSE

T Y YN

The correct option is "Quartzite \ FaEaTse 'Score:- 1

Candidate Response :3
38 of 80
137 UPJN_Dec2016_JE_CIVIL_TECH_2

http://upjn.org/JECIVIL/C andidate.aspx 18/37
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Technical \ d&=Ter Page 19

The main constituent of a Portland cement is:-

Teh diéels WA & T T § -
e Lime \ g1
[N
AIumina\UF«gﬁ?lT
i , &
Iron oxide \ 3T ATFETSS
i

Alkalies \ &I acg

The correct option is "Lime \ a1"Score:- 1

Candidate Response :2

39 of 80
138 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ d&eTr
Gypsum is added in the manufacture of Portland cement in order to:-

el wete & st 3 focws &t fhe st e srarg?
T Shortenthe setting time of cement \ HIFe 1 ST T I F3 e 0
e Lengthen the setting time of cement \ §IFiT & ST §HY &1 3iTde Hiat 8

£ Dstresssiie bumning temperature \ &&= ATUATA & H HTA £

e Decrease the grinding time \ 0T §#a %37 F%a &

The correct option is "Lengthen the setting time of cement \ ErFic 3 STHETE T& 1 31T e %@"Score:-
1

Candidate Response :2

40 of 80
139 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ @sithr
The expansion of cement should not exceed for any type of Portland cement.

s v S s e F v dfcwm fAeaw_. . @ 31w 78T g1 =iy
'
5 mm\ 5 &

10 mm\ 10 A+

15 mm\15 T

C 20 mm \ 20 fAsr

The correct option is " 10 mm \ 10 f&s"Score:- 1
Candidate Response :2

http://upjn.org/JECIVIL/C andidate.aspx 19/37
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140 UPJN_Dec2016_JE_CIVIL_TECH_2
Technical \ d&a1T

The central part of a tree is called

ek OF & HE 8797 T gl AT &
¢ Heart wood \ 37T &rsa
3 Pith \ #=aT
~
Sap wood \ #ugs
G

Cambium layer \ &fe=7 g

The correct option is "Pith \ Fea"Score:- 1

Candidate Response :2

42 of 80
141 UPIN_Dec2016_JE_CIVIL_TECH_2

Technical \ @&t
Which of the following statement is correct?

TAFATATRT YT H & HleT AT TET 872

c The error in measured length due to bad ranging is compensating error. \ FITIT o are & T
ar{l‘@:r & T e TRy I Feareh 4l

If the chain used in measuring a distance is too short, the error is positive error. \aﬁqfrw%g

ST SE BIET & &l e Ferrearh 3 @9

The error in measured length due to careless holding of chain is cumulative error. \ Sifie & SToRaTE
UROT & ST HG Sa1s # Jie Ferdl e 8]

c When the pull applied while measuring with a tape, is more than the standard pull for that tape, the
error is measured length is positive. \ Ter S 3 €121 A9 | STa [a=ma 3 fohan sirar 8, & 78 By

& FTerer e B oot 31 3ifeh et & ot 7l 18 wrorarg 3 ererener IR B

The correct option is "If the chain used in measuring a distance.is too short , the error is positive error. \

aﬁq&m%qaﬂaagaa’rﬁ%sﬂgﬁwg%ﬁﬂ"&ore:- \
Candidate Response :2

43 of 80

142 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ gt

Chain surveying consists of the arrangement of framework of triangles because a triangle is the only
simple plane figure which can be plotted uniquely if of the triangle are known.

e wfaToT PRyt & graere w B fafee vt €, #ifaR et Pget €1 3 wremoT waeee st § o
TH8IST T fefacia &9 & el T FARIT ST TRl 8]

C Three sides \ ¢fiaT &7maft

http://upjn.org/JECIVIL/C andidate.aspx 20/37
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Three angles \ &t shioTt

One side and two angles \ Teh 8o 31 a1 HIvTt
One angle and two sides \ Weh 10T 31 gt gait

The correct option is "Three sides \ dieT SﬁTaﬁ”Score:- 1
Candidate Response :4

iG]

44 of 80
143 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ &sitsr

Rankine's theory of earth pressure assumes that the back of the wall is:-
fepot o gt e fHeia A 8 fos e &1 dies s s glar gl
" Plane and smooth \ e 3t R

J Plane and rough \ ®rer 37T fereny)

™ Vertical and smooth \ s 3t et
e Vertical and rough \ e=iare 31T GTexr

The correct option is "Vertical and smoeoth \ s=iaa 31T Rie="Score:- 1

Candidate Response :3
45 of 80
144 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ a&eTdhr
The lines of earth's magnetic field run from:-

T2l & YahT &7 T {WIT Teeh -
© Southto North \ gf&roT & 3a¢
" North to South \ 3er 3 afaror
2 East to West \ 7 & dfR=a
¥ West to East \ af¥ers & g

The correct option is "North to South \ 39T & gf&Tor'Score:- 1
Candidate Response :2

http://upjn.org/JECIVIL/C andidate.aspx 21/37
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145 UPJN_Dec2016_JE_CIVIL_TECH_2
Technical \ d&=ihr

A psycnometer is used to determine:-

UTSehalll et &1 A9 ehgent eoT et & oI fomam SiTar 872

Water content and voids ratio \ 9r=iT &hr AT 31K e Eoeic]

c Specific gravity and dry density \ fafRrse Wﬁg@m
c Water content and specific gravity \ el &1 #7am 3R fafrse srecaredor

e Voids ratio and dry density \ Rererit 7 sreareT sik gdT watea

The correct option is "Water content and specific gravity \ T1sir #r #7aT 31X faRise FearmsoT 'Score - 1
Candidate Response :3
47 of 80
146 UPJN_Dec2016_JE_CIVIL_TECH_2
Technical \ daTHr

In the surveying telescopes, cross hairs are fitted in:-
HIRTOT SLlIeT H, HTE I FHET AT AT 872
C Centre of the telescope \ gLl a1 s 3
C Optical centre of the eye piece \ AT & weprelr g &
C Front of the eye piece \ @i & e
C Front of the objective \ 3if#eeas 31‘14?14_1@
The corréct option is "Front of the eye piece \ AT3&HT & m?ﬁ@”SCOre:- i
Candidate Response :3

http://upjn.org/JECIVIL/C andidate.aspx 22/37
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147 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ d&siihr

The capacity of a telescope of producing a sharp image is called its

T FC B (PIET) & ScG & Tlw Gualle T &THT i G AT 8]
T Definition\ 2fsfarerst

e Brightness \ I

C Sensitivity \ HageTeirerar

C Magnification \ 3TTaefeT erfera

The correct option is "Definition \ 3ftkfae=r'Score:- 1

Candidate Response :4
49 of 80

148 UPJN_Dec2016_JE_CIVIL_TECH_2
Technical \ d&a1ET

Fibre board can be:-

FEa a5 ARETSINE
Distempered \ fBxesag
Painted \ teg

Painted and distempered \ 928 qar BwFqg
Used for furniture \ weifet & s&aTe

3 T F M)

The correct option is "Used for furniture \ ®sifet # sEa#HTel'Score:- 1
Candidate Response :3

http://upjn.org/JECIVIL/C andidate.aspx 23/37



3/7/2017
50 of 80 Page 24

149 UPJN_Dec2016_JE_CIVIL_TECH_2
Technical \ a&a1hT

Pile foundation is generally provided if soil is:-
UEe Al ATACR IR &2 Srar § o9 e gr-
Compressible \ ﬁisﬁﬁa'lﬁ‘r

Water logged \ STeT 311 arell

Made up \ #5 37

All of the above \ ST # & i1

g B B

The correct option is "All of the above \ ITFT & & H37"'Score:- 1

Candidate Response :4
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150 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ @asidr

In measuring horizontal angles, the theodolite should be turned:-

ST 0T o1 AT H, efiEYeTSe AT R S =R -

T Gloskwise from the forward station to the back station \ ETROTTET TIITE TR N 7w wevr=r 7 5%
Clockwise from the back station to the forward station \ &faroTTaeT e w2 & Fga wexTe 1 3%
Anticlockwise from the forward station to the back station \ STATET HeFE TR ¥ fag@ TR1T I

Anticlockwise from the back station to the forward station \ STaTa faHE TR & HFHE TRI AT

2% 20

The correct option is "Clockwise from the back station to the forward station \&f&roTaret fasm wem &
T BRI T R Score:- 1

Candidate Response :2
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151 UPJN_Dec2016_JE_CIVIL_TEGH.2

Technical \ d&silhT

With the rise of temperature, the sensitivity of a bubble tube is:-
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ST S & eTgel hT e T FAGRITeTe -
Decreases \ T23T

Increases \ Saf

Unchanged \ #IgT Sgeisir

Fluctuate \ 9T == g197r

The correct option is "Decreases \ BR3"'Score:- 1
Candidate Response :2
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152 UPJN_Dec2016_JE_CIVIL_TECH_?2

Technical \ d&aidhr
Atieis a:-
TFH TS &-
Flexible member \ &=ie e

Compression member \ gard e+

-

Torsion member \ T HeET

7

Tension member \ dTd A&

The correct option is "Tension member \ da1d HET'Score;- 1

Candidate Response :4
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153 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ @&=irHr

The projection of a traverse line on a line perpendicular to the meridian is known as:-
ALY TN o Saieict 3w T T FEI0T HEEI & -

Latitude of the line \ 37aTrr YT

Departure of the line \ vE2ra Y@=T

Bearing of the line \ Yzar < e Fearfay

Co - ordinate of the line \ YT & fadere

YTy Ty

The correct option is "Departure of the line \ I I@T'Score:- 1
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Technical \ aF=i1hT

When the whole circle bearing of a traverse line is between 90° and 1807, then:-
Waﬂmi’@#qﬁwﬁ%ﬁaﬁgowﬁﬂsoﬁawwﬁ, aer-

The latitude is positive and departure is negative \ 31&TIRT &alTcHe B9 31N T FOTcHF 8191

.

The Departure is positive and latitude is negative \ W2 eaTcaeh B19T 31T 31&TIRT FUTTIcAh 1o

Both the latitude and departure are positive \ 31&TRT 3R TETeT gl TATcHs Bt &

T3 =)

Both the latitude and departure are negative \ 3&T7eT 31 eI alal HUTcH® g1 &

The correct option is 'The Departure is positive and latitude is negative \ TE2ITe Pallcdeh 8191 31 318TRr
FUTTcHS gem'Score:- 1

Candidate Response :2
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155 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ g&=Tdar

VWhich of the following is not the unit of pressure?
foFafelaa # & Hid 61 ga1a 1 3h1s 81 87
Kg/om \ fa o /arsiT

Psi \ 9.0, 3775,

Atmosphere \ ararayoT

o Ths B B

Newton \ el

The correct option is "Newton \ =g c«1"Score= 1
Candidate Response :3
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156 UPJN_Dec2016_JE_CIVIL TECH 2
Technical \ aH=1Hr

In levelling, the effect of refraction may be taken as

TNETOT 3, Fghell o FHIROT §leT AT 3T =T & WeTg &l

r

[
&
i

The correct option is "One - seventh \ Tek - HTda"'Score:- 1

One -
One -
One -

One -

half \ Tes - 3rear

third \ ek - TS

fifth \ Teh apT ATerar

seventh \ U - HIaS

68 of 80

157 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ d&aihT

Activated carbon is used for:-

| e o & fore vl 27
Disinfection \ eTvyemerT

-
-
-
-~

Removing hardness \ aRdT gy &lel

Removing odours \ 31T &T et

of that due to curvature.

w9 3F 2T o7 HemaTT B

Candidate Response :4

Removing corrosiveness \ 8T AT g &lel

The correct option is "Removing odours \ aTer W Fel'Score:- 1
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158 UPJN_Dec2016_JE_CIVIL_TECH 2
Technical \ =TT

Which of the following statements is correct?
AT 3 PleT T T TE &2

Lower critical Reynolds humber is of no practical significance in pipe flow problems. \ﬁﬂﬁw‘r
NeATes AaT 7 UT2T YaTg THEAT H1 HIS s Agca A8 g

Upper critical Reynolds number is significant in pipe flow problems. \ ST FgcaquT ReTes #av &1
g Yag RS & Jga gl

Loweer critical Reynolds number has the value 2000 in pipe flow. \ forerel geaqot Rares Aaw &1 agw
YaTg ST A= 2000 B

Upper critical Reynolds number is the number at which turbulent flow changes to laminar flow. \ T

gAY ReTes aea 98 7oK § Foreet 31enia v ofee o # Je ST 3]

The correct option is “Lower critical Reynolds number is of nc practical significance in pipe flow problems.

\ e FgeayT Reres de &7 9189 Ja1g FAET 1 B IrhfEie Aged e 8] Score - 1

Candidate Response :5
60 of 80
159 UPJUN_Dec2016_JE_CIVIL_TECH 2

Technical \ @@=

The error which is not completely eliminated in reciprocal levelling is

ag R o 3o rle=T FRToT 7 Ot g & HATCd g AT S Hhell, IF gl
Error due to curvature \ G & HROT 3fe

Error due to refraction \ 319@cieT & &ROT e

=

Error due to non-adjustment of the line of collimation \ el 2 STgeT o 3 - HATAST & HROT &

P

Error due to non-adjustment of bubble tube \ geTgel I & IR - gATASA & FROT e

The correct option is "Error due to refraction \ 3uaciet & FRoT 3fe"Score - 1

Candidate Response :0
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Technical \ aF=Tr

The depth of flow at which specific energy is minimum is called: -

vaTE 1 RS fow v faRise Fofl wgeias & 1 = e 87
Normal depth \ ETHTT &S

Alternate depth \ 3feue IETS

Critical depth \ HgeaqpT 71548

None of the above \ 30lerd & O IS 78T

w B B

The correct option is "Critical depth \ H’gﬁ'ﬁl\ﬁ’r IENS "'Score - 1

Candidate Response :3
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161 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ dasiidr

The vertical distance between any two consecutive contours is called

TRy ofT ST &1 WA= & e Sisiard gl &, T STl 8]
Vertical equivalent \ Seafert sRTeT
Horizontal equivalent \ &fasr steT

Contour interval \ @<= 3icRrel

T

Contour gradient \ §HI=T &rer

The correct option is "Contour interval \ §HI==r 3icRTel ' Score;- 1

Candidate Response :3
63 of 80
162 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ d&aitehr
Minimum grade of concrete to be used in reinforced concrete as per IS: 456-2000 is:-

IS: 456-2000 % IFHR Ya Tl Sehic 7 U197 glel arel Sshic 1 A0f o F & glell ATF0-
C M15

C M20

C M10

C M25

The correct option is "M20"Score:- 1
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163 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ a&sitdr
The value of compression index for a remoulded sample, whose liquid limit is 50 %, is:-

T YT wEe & fore foreeht oo T 50 % &, Eise Fahies T AT g1 -
r 0.028

e 0.28
T s
C o3

The correct option is "0.28"Score:- 1

Candidate Response :1
65 of 80
164 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ aasirehr
As per |.S. 800-1971, the working shear stress on grass area of power driven rivets is:-

378 UH. 800-1971 % i@ fsrell anferd Raie & ore vRar o 3iowyvr Jad fhdar glan?
C 785 kgl/em?
C 945 kglcm?
C 2
1025 kg/cm
T 1575 kgfom?

The correct option is "945 kg/cm?'Score:- 1

Candidate Response :3
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165 UPJN_Dec2016_JE_CIVIL_TECH_?2

Technical \ a&sidhr
Flow irrigation is done from

CEERTEIR T T ST B

C Wells \faﬂ

4 Rivers \ s1aT
o~

© Seal qAg
C Canals \ 8T

The correct option is "Canals \ F7gY"'Score - 1
Candidate Response :4
67 of 80

166 UPJN_Dec2016_JE_CIVIL_TECH_?2
Technical \ a&siér

Straight, plain or square joint is also known as A\ ¥ gore 3R geiepr Sg ofT ST ST &

« Butt joint \ sz S5

T Rivated joint \ REes A
~ Rebated and filleted joint \ ¥&3es va qefeer sy
« Tongued and grooved joint \ 23T 21 38R S5

The correct option is "Rebated and filleted joint \ Wes g gefeamr J15''Score:- 1

Candidate Response :1

68 of 80
167 UPJN_Dec2016_JE _CIVIL_TECH_2

Technical \ aesiidr
In case of a wooden floor, the floor joint may be joined to the wall plates by

Uk oTehel o el &, TheT & SiTS oY faargah SIS & o &aNT GilsT STiar
Mortise and tenon joint \ Te7 3 SeT SIS
Bridle joint \ e g

" Chase mortise joint \ 2 wer st

3 Cogged joint \ a7arR s

The correct option is "cogged joint \ alaaR S Score:- 1
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168 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ g&=1Er

The permissible compressive stress in brickwork is usually:-

BIHATI: ST [HIT$ T 32 HIS ofelia fohctal g1 872
C 1 N/Sg.mm - 2 NISg.mm

3 2 N/Sg.mm - 3.5 N/&g.mm
3 4 N/Sg.mm - 6.5 N/Sg.mm
3 7 N/Sg.mm - 9.5 N/Sg.mm

The correct option is "2 N/Sg.mm - 3.5 N/Sg.mm"Score:- 1
Candidate Response :4

70 of 80
169 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ a&=TH
A good quality brick earth mainly consist of -
e 3=t § 1 FAT 7 e T -

Iron oxide \ 3R 3TFASS
Alumina\(’?«gﬁm

Magnesia \ Ha=nferar

Lime \flf-!T

e
{"-.

The correct option is "Alumina \ t’?gfﬁ?n“s'core:- 1
Candidate Response :2
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170 UPJN_Dec2016_JE_CIVIL_TECH_2
Technical \ g&=ir

A submersed body is said to be in stable equilibrium if:-

T SolT 3T s T Feforet 31 ahgetiel § A
3 The center of buoyancy Bis below the center of gravity G \ 36Tel &hg B Wﬁw FECAATE
3 The center of buoyancy B coincides with G \ 3&TeT s B JRecameh¥or &g G W &

e The center of buoyancy B is above the metacentre M \ 3&Tel she B 3Teld she M & TR &

e The center of buoyancy B is above G \ 3&TeT e B, W&Wﬁﬂ'GQEW?

The correct option is "The center of buoyancy B is above G \ 3@Tdl e B, WB‘(UT % G FH IR
"Score:- 1

Candidate Response :4
72 of 80
171 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ g&aThT
If the bubble of the level tube of dumpy level remains in center it means:-

SEUT AT 3 Sidel TY T Jelgell he 3 Tl & A FHeT o 3797 8-

C Axis of telescope is horizontal \ gTeiTeT s 31T &fersT &

Line of collimation is horizontal \ §HTe=aToT YET &3 8

-

Line of sight is horizontal \ T5& Tr &ifasr &

)

Geometrical axis of telescope is horizontal \ GTeeT T =T 31a7 &1fTFeT &

The correct option is "Line of sight is horizontal \ T5r Y&=T &3 &"Score:-1

Candidate Response :0
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172 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ a&=TET

The internal curve of an arch is termed as:-

T HEXS I AT I8 &7 Faelar a7
Soffit \ &g
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Haunch \ T«

Intrados \ SIS
Back \ fO&er #1meT

The correct option is "Intrados \ SsTesIT"Score:- 1
Candidate Response :3
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173 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ aa=ATT
The expansion of soil due to shear at a constant value of pressure is called:-

TS o Ueh {1 AT O &ictel & HIOT HaT T [aEAR gl STl B

3 Apparent cohesion \ TIs& AT

C True cohesion \ Gc FHSIT
o

" Dilatancy \ Ewiar

3 Consistency \ f2rar

The correct option is "Dilatancy \ f@TwIiarScore:- 1

CandidatesResponse :3

75 of 80
174 UPJN_Dec2016_JE_CIVIL_TECH_?2

Technical \ @&sshr
The main observation of the plate load test is:-
UTST ST TIETT T FEH 37aeiieheT § -
& Settlement of the test plate \ TIT&TOT AT T STHT
e Stability of soil \ e P feerar
C Stability of the test plate \ T8i&ToT 2relT T FE2Rar
c Settlement of soil \ FaT &1 STATT
The correct option is "Settlement of the test plate \ T{ieToT 26T &1 FTATE""Score:- 1
Candidate Response :2
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Technical \ d&=A1hT

The viscosity of a gas -

g &1 RufRarge -

Decreases with increase in temperature \ JTHTT S6d W HA g &
Increases with increase in temperature \ ATIEATST &t OX &1 &
¢ Is independent of temperature \ ATIATT & Taded gl &

¢ Is independent of pressure for very high pressure intensities \ Sgef 370 gara dganit & P eaa a
FaAA AT

The correct option is "Is independent of temperature \ ATIHTT & Fade &dT & 'Score:- 1
Candidate Response :2

77 of 80
176 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ d&=THT

Stoke is the unit of -

Dynamic viscosity \ SRITTH® eITeTdT
Kinematic viscosity \ TIfafaciRT eamerar
Specific volume \ [af2se smaa«t
Specific weight \ faR¥Ise #R

The correct optioh is "Kinematic viscosity \ IITaf&drA @gr=Iar'Score:- 1
Candidate Response :2

http://upjn.org/JECIVIL/C andidate.aspx 35/37



3/7/2017

Page 36
78 of 80

177 UPJN_Dec2016_JE_CIVIL_TECH_2
Technical \ daThr

As per Lacey's theory, the silt factor is:-

Y & R 3 37 fliee ot g & -

3 Directly proportional to average particle size \ F0T & 3T 3THR FT H’H‘IFEFTF g

C Inversely proportional to average particle size \ F9T 3 HRATT TR FT FcFHHAGTIAIH a1l &

3 Directly proporticnal to square root of average particle size \ 0T & el TR & FTeer 3 FaARIAT
garg

C Not related to average particle size \ FUT & HHad HHR & Teafad 18! &

The correct option is "Directly proportional to square roct of average particle size \ ST 3 AT HFR &
S & AR giar 8"Score:- 1

Candidate Response :3

79 of 80
178 UPJN_Dec2016_JE CIVIL TECH_2
Technical \ d&sihr

Which one of the following is not turbidity test on water?

=T 7 @ i @1 g 9T FeraeT gIeToT 5T 87

b s \ SteFeT

K Baylis \ aforg

e Nephelometer \ AtheliHTET

¢ Hehner's method \ gg=< &1 fafr

The correct option is "Hehner's method \ g&=1% & fafer'Score:- 1

Candidate Response :4
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179 UPJN_Dec2016_JE_CIVIL_TECH_2

Technical \ @=1Hr

The process of purifying water by passing it through a bed of fine granular material is known as:-
NG TaT T Hlg & T T FoIhTer ¥ UG Flot & fafer Fgereh §:-

Screening \ ufa@ET

Sedimentation \ 3l58E=

Filtration \ &Id=T

B e

Coagulation \ TehesT

The correct option is "Filtration \ &Tdd"Score:- 1

Candidate Response :1
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